
Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Умножение многочленов

(3 − 7x (5x + 4)2) (8 − 7x)(6x − 7)

(2x + 8x + 8)(x − 3)2 (6x + 2)(2x + 5)2

(1 − 5x)(5x − 2) (6 − 5x)(9x + 3)

(1 + 7x (3x − 5)2) (9 + 5x (x + 1)2)

(5x − 3)(6x + 8)2 (9 − 3x (5x − 9)2)
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Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Умножение многочленов

(3 − 7x (5x + 4)2)

−35x − 28x + 15x + 123 2

(8 − 7x)(6x − 7)

−42x + 97x − 562

(2x + 8x + 8)(x − 3)2

2x + 2x − 16x − 243 2

(6x + 2)(2x + 5)2

12x + 30x + 4x + 103 2

(1 − 5x)(5x − 2)

−25x + 15x − 22

(6 − 5x)(9x + 3)

−45x + 39x + 182

(1 + 7x (3x − 5)2)

21x − 35x + 3x − 53 2

(9 + 5x (x + 1)2)

5x + 5x + 9x + 93 2

(5x − 3)(6x + 8)2

30x + 40x − 18x − 243 2
(9 − 3x (5x − 9)2)

−15x + 27x + 45x − 813 2
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